BCV302

Englneerlng Sumv ﬁy

K p W
Time: 3 hrs. ' K4 Max. Marks: 100

Note: 1. Answer any FIVE full questions, choosmg ONE Sfull question from each module.
2. M : Marks , L: Bloom’s level , C: Course outcomes. LA

-

Q.1 | a. | Explain in brief about: 10| L2 | CO1
1) Topographical survey
i)  Cadastral survey

iiil) Hydrographic survey
iv)  Control survey

v)  Under ground survey.

b. | Discuss in detail about, the advantages and disadvantages of plane table | 5 | L2 | CO1

survey.

c. | Explain classification of survey by objective.of sﬁrvey. 5 | L2 | CO1
Al OR

Q.2 | a. | Discussindetail about the EDM. 10 | L2 | CO1

b. 5 | L2 | CO1
c. Explam the classification of survey by nature of survey. & 5 |L2 | CO1
. Module—2 . - -
Q.3 | a. | Explain in detail the procedure for the measgren&gﬁi of horizontal angle by | 10 | L2 | CO2
thedolite by repetltlon method. My, ¢
f total station sur 5 | L2 | CO2

b. | What are the a ’ﬁ@@pnes and advantag

c. | The followmg taff readings we erved successively, wﬁh alevel the |5 | L3 | CO2
instrument is moved by 3™, 6" and 8™ readings 2.22 1606 0.988, 2.090,
2.864,:1:262, 0.602, 1. 982 1 044, 2. 684m recor ‘eadlngs in a level

use HI I;}ethod

r

A ' OR :
Q4 »;;g—l—l:jxplam in detail the procedure for dlfferentlal leveling by plane of | 10 | L2 | CO2
“ | collimation method usmg dumpy level.

b. | Explain in detail how horizontal “1s measured with the total station. 5 |L2 | CO2

’ ! 4 Yy

c. | The followmg observations were taken with dumpy level and 4m leveling | 5 | L3 | CO2

staff. The instrument was* shifted after 4"and 7™ reading. The first reading
was taken on a bench ‘ark whose RL was 15.575m. Prepare a page of level
book and calculate RL. ’é&f” all the points. The observations were taken at
every 30m interval. /}lsd find out the gradient between first and last point
use rise and fqll method. Observations are 0. 565, 1.250, 1.675, 3.695,

0.125,2.345,0 §“(§6 1785 and 2.535.
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, Module — 3
Q5 Discuss in detail about characteristics of contours. 10| L2 | CO3
Cco3
Q.6 COo3
Cco3
O(i%lg — ‘ &

Q.7 For applying Rankine’s method, p yvide the procedure of ss;t‘ung out of | 10 | L3 | CO4
10 | L2 | CO4
Q38 10 | L2 | CO4
10 | L3 | CO4

ground tm ¢ level in a direction transverse to the center line, calculate the

volume contained in a length of. 120m the center heights ?%‘E‘ZOm intervals

bemg” in meters are 2.200, 3. 700 3.800, 4.000, 3«80@; 2.800, 2 500

Calculate volume by trapezmdal rule and prlsmmda , ,

Q9 | L2 | CO5
L3 | COS
Q.10 L3 | COS
L2 | CO5




